
Math 1149, Exam #4, Fall

lnstructions: Show all  wo
answers.
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Round only when specif ical ly asked to. other cases, use exact
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f .  Find the

2. Find a vector
(4 points)
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g. Decompose
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vector il into the projection onto r7 and it or thogonalcomponent .

between i andfi.
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points from the point (-1,4) to the point (6,2. Write it in the form fr = ai * bl.

Given a vector magnitud{lilts t5 anO that it makes an a e of 3L5o with the positive x-
axis, find the r in the form i = ai * bi. (5 points)
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magnitude 40 N makes an angle with the xis of 15o, and a second with a
and makes an angle with the x-axis of 60o, l l  on an object.  Find the

magn i tude and d i of the result ing force. Draw a diagra of the forces. (8 points)

Two forces, one
magnitude of 50
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5. Find the work by a force of 3 pounds, act ing in the di 60o to the horizontal  in

moving an object (0,0) to (1,7).  (5 points)
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6.  G iven the  equa n of the circ le in general  form given by x2 + " - 6 x * 2 y * 9 = 0 , f i n d t h e
standard form of circ le and sketch the graph. Labelthe ter on the graph. (8 points)
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7 . F ind  an  equat ion
Label the vertex,

the parabola with a vertex at (2,-3) and a
he focus, the directrix and the axis of symm

W-a,Lr

='t (;r(;ta)

:*g(r1_r \

/y= /. 6-Ytzt 4, ,"tr -*h+
U - ( i  d

8.  F ind an equat ion the el l ipse with a center at (1,2), a focus at (4,21, and contains the point (1,3)
on the minor  ax Sketch the graph. Label the center,  the ver the foci ,  and the axis of
symmetry. (8
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10. Calculate the
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11. Determine the
(5 points each)
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